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4 1. 110 5 0.8

1/2  

 0.55  0.65  0.75  0.85 

2 2. 5 X 80

X  

 2  4  8  16 

4 3. 100 Ω
4

1
W  

 0.25 A  0.5 A  25 mA  50 mA 

3 4. 4 S1 0.18A S2

0.15A R  

 20   40  

 60   80 

1 5. 5  

 20 V 40 W  

 4 Ω 2 A 

 6 Ω 12 V 

 40 V 80 W  

 

 

2 6. 6 I  

 0 A  

 3 A  

 -1 A  

 1 A 

 

 

 

 

4 7.  

      

     

4 8. 6 Ω 120 V 30 A

 

      

    

 

1 9. 9 RL  

 1Ω 4W 

 1Ω 8W 

 4Ω 4W 

 4Ω 8W 

 

 

 

2 10. 6 μF

μF  

 4  9  12  18 

3 11. -5
1 106Q  -4

2 103Q  3

 

 6  12  18  27 

1 12. 0.76 0.28

M  

 0.12  0.48  1.04  2.08 

3 13. RC t=0 t=R×C

 

 36.8 %  50 %  63.2 %  80 % 

3 14. 14 S VL  

 0  

 0.6 

 20 

 30  

 

 

 

 

1 15. 3600 rpm 60 Hz P  

 2  4  6  8 

3 16.    o45377tsin2100te 
240

1
t   

 35  70.7  100   173.2 

2 17.  

        

4 18. 18
oθ20Z   tV f Hz   

 12  50  63.7  31.8 

3 19. 19 IR=6 I  

 2  8  10  14 

3 20. 1000 KVA 0.8 1.0 KVAR  

 300  450  600  800 

1 21. RLC 3 Ω 8 Ω 4 Ω

 

 53
o 

 37
 o 

 37
 o 

 53
 o
 

2 22.  o60314tsin2100   o30314t10sin   

 o3010   o30210    o9010   o90210   

2 23.  A377t5sin 4Ω  

 20  50  100  200 
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16Ω

60mHV(t)
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V(t)
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3Ω
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 4 Ω

2 Ω
11 A

3 V

a

b
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 6 Ω

12 Ω
18 V

3 Ω

6 A

I
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6 V
6 Ω

2 Ω

8 Ω

3 Ω

8 Ω

32 V

V1V2
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-j XC

10 Ω  

-j 20 Ω  

A

B

RC

A

B
(a) (b)  
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5 PF Vo (t)Vi (t)

+

-

200 K

 

  

            

44                          

 

4 ΩVi (t) 3 Ω

30A

 

            

3 24. RLC f0=1000 Hz R=10 Ω XL=100 Ω Hz  

 1  10  100  1000 

2 25. 25 ZL ZL  

 6+j8    6-j8  

 j8    -j8  

 

2 26. 19

(mA)  

 0.8  1  1.2  1.4 

3 27. 1200 W 4 5

  

 6  12  24  48 

3 28. 28 A B (Ω)  

 5   6  

 11   22 

2 29. 29 a b Va b (V)  

 22   25  

 33   44 

3 30. 150 V 4 kΩ  

1500 V kΩ  

 12   24  

 36   40 

 

3 31. 31 12 Ω I (A)  

 1   

 2 

 3   

 6 

 

1 32. 100 2 9.8  

30 (KgW)  

 1  2  9.8  19.6 

1 33. 33 V1 V2 (V)  

 V1=10 V2 7 

 V1=7 V2 10 

 V1=6 V2 32 

 V1=32 V2 6 

 

 

 

4 34. (Faraday’s law)   

    

  

  

1 35. 2 2 1

 

 4  8  16  32 

3 36. 15 180

/  

 3  6  12  18 

4 37. 50 μF 100 μF

(μF)  

 50  100  150  200 

2 38.

 

     

     

3 39. 39 S 0V 1

( e
-1

0.368 e
-2

0.135 e
-3

0.05 e
-4

0.018) 

 13.5 

 15.8 

 31.6 

 150 

 

 

4 40. 110V  

 110  220  110 2   220 2  

3 41. R-C 100 80

 

 20  40  60  80 

4 42. 42 (a) R-C (b) (b) RC CX

(Ω)  

 15 25 

 25 15 

 25 50 

 50 25 

 

 

3 43. 43 Vi (t)=10 cos(10
6 

t)V Vo ( t ) (V)  

 5 cos(10
6 

t - 45
o
)   5 cos(10

6 
t + 45

o
)  

 7.07 cos(10
6 

t - 45
o
)   7.07 cos(10

6 
t+ 45

o
) 

1 44. 44 R-C 4 Ω 30 (A) I  

 50  60  70  100 

3 45. R-L-C   

 0.5  0.8  1  1.2 

4 46. 100 V 159 Hz R-L 5A 60V

L (mH)  

 4  8  12  16 

3 47. R-L-C 100 V 60 HZ R 30 Ω XL=16 Ω Xc=4 Ω

HZ   

 10  20  30  40 

3 48. SMD (Surface Mount Device) 103

(Ω)  

 100  1030  10000  10300 

3 49. 1.25×10
20

  

 10  15  20  25 

1 50. R-L-C 1 Ω 1 (μH) 0.25 (μF)

(Q)  

 0.5  2.5  5  10 
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E=150 V
60  Ω

10 Ω120 Ω

S

20 uF

 

            


